SN sEFYD
HE: YRS I B (SYHLLM/5Y - 55)
S sPLHEIB A= (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
sEI M 68,660,463 62,579,807 6,080,656
= 3,955,081
& 55,421,000
J| 343,101
& 53,600
< 8,887,681
LA=g MY M (ML /5 - 5&) 12,790,242 14,210,270 A 1,420,028
= 2,606,500
& 7,649,000
J| 343,101
&2 53,600
< 2,138,041
sHEHIIB 2= 8,162,701 10,030,701 A 1,868,000
& 7,649,000
J| 343,101
= 170,600
sg - -s& J¥Y &2 AMFA 65,000 106,400 A41,400
203 YR =&l 65,000 65,000 0
03 AIMF=XH R =AH| 65,000 65,000 0
Os=ae AWM 2 AM =3 65,000
SEANH FA L HAPR = 79,000 80,600 A 1,600
202 O4dl 79,000 80,600 A 1,600
01 = LH 4 1 30,000 32,000 A2,000
OANHMER o A 2tol 30,000
04 2 H 204l 49,000 48,600 400
OHAYR =& A A= 49,000
SEE0F /23 29 22 3,600 3,600 0
201 £8-2dH| 3,600 3,600 0
01 At 22l 3,600 3,600 0
Osg2d s 2 3,600
SEMISH(BAHAAH)(Z2D) 5,700,000 5,900,000 A 200,000
& 5,700,000
403 UtXISHH S =0l & 5,700,000 5,900,000 A 200,000
& 5,700,000
01 XM A=2E X 5,700,000 5,900,000 A 200,000
oOgELH=ELE 22AH 5,700,000
& 5,700,000
seME MASS)|IRE XA (2) 1,935,000 3,560,000 A 1,625,000
=1 1,935,000
403 MHXISHE X201 E 1,935,000 3,560,000 A 1,625,000
& 1,935,000
01 XXM A2E = 1,935,000 3,560,000 A 1,625,000




2N SEZHD
HE: YRS I FY(SYHLLM/5Y - 55
el AL 2 (B9 ®R)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OsxdE MRSt & 1,935,000
2 1,935,000
sXolg2e XN (=21D) 350,101 350, 101 0
J| 343,101
o= 7,000
202 044 7,000 7,000 0
01 2L Y| 7,000 7,000 0
OsXdEE ¢« &I S 289 7,000
308 XHXIEHSOIA 343,101 343,101 0
J| 343,101
01 AIXSHMEAMNEX= 343,101 343, 101 0
osXolgae XN 343, 101
J| 343,101
FTA CHZH =& 2,000 2,000 0
202 o4 | 2,000 2,000 0
01 2Lyl 2,000 2,000 0
OFTA & =& 2,000
SEMNHE D& - HOIMA RE(212) 28,000 28,000 0
2 14,000
o= 14,000
307 QI2t0| ™ 28,000 28,000 0
2 14,000
=} 14,000
02 A2AtAMNEXZ 28,000 28,000 0
Os=s=48gst JIE - HOHMA 25 28,000
2 14,000
& 14,000
SEIX L a2 & &at 3,295,884 2,812,106 483,778
= 2,016,000
= 53,600
& 1,226,284
LAY N I 2 45,000 25,000 20,000
307 2I2t0| & 45,000 25,000 20,000
02 QI2tAAE X2 45,000 25,000 20,000
OLd=s=/1ELH 29 25,000
OLJd=g St ™MEI LI 20,000
HNESY0 REHEXN 2SI 145,684 126,200 19,484
308 MXISHMSOIA 145,684 126,200 19,484
01 HXHHIMNEEXTZ 145,684 126,200 19,484
OFE=go REsdEXN s 145,684
S0l NWMAYE &=z X 420,000 600,000 A 180,000
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=X R’
Aol MY BN (SHUWLLL /5 - &
EObXIS O B g4

SN HH-S(BN) - MBAY - B il HlnE2
308 XXt S0 A 420,000 600,000 A 180,000
01 IXNHHBNEES 420,000 600,000 A 180,000

O=ge DM stita X 420,000
4= &4 134,100 114,906 19,194
202 oddl 4,600 4,600 0
01 = LH o4 1l 4,600 4,600 0
Ondsol 54 Y2xz 4,600
308 XXM SO0 A 129,500 110,306 19,194
01 AXSGHBLELS 129,500 110,306 19,194
OsEW4dZE012 2L 16,500
Od=sgody 28 N& 33,000
O&d=gel Helsagy &AM 80,000
AEsud SAH X2 134,000 134,000 0
& 53,600
< 80,400
308 XXM S0 A 134,000 134,000 0
=2 53,600
< 80,400
06 WSII20HEt2E= 134,000 134,000 0
OXNZ=sud =AH X 134,000
= 53,600
= 80,400
sEZA 2= N 15,000 30,000 A 15,000
308 XtXIEHH SOl A 15,000 30,000 A 15,000
01 IXNHHBANEES 15,000 30,000 A 15,000
Os&E&E2 22 N&E 15,000

SE BESHANE (2 1) ,902,100 1,782,000 120,100
= ,516,000
< 386,100

308 XX EHHSOIA ,902,100 1,782,000 120, 100
= ,516,000
< 386,100

01 AXSGHBELS ,902,100 1,782,000 120,100
O=Z ESUAMN EEZR2E , 782,000
= ,395,900
< 386,100
O=s& 230t0l=sdH XA 106,400
= 106,400
Os& 2s00l=ssdH 29l 13,700
= 13,700

Sdsts0 As5E N (Z2) 500,000 0 500,000
= 500,000
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2N SEYHD
HE: YRS I B (SYHLLM/5Y - 55)
ol Meselol g4 (S5 &)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
307 QI2t0| ™ 761,457 781,123 AN 19,666
= 515,000
[ 246,457
02 AFAMNBEXZ 761,457 781,123 N 19,666
OLA=H0I0IAEHUE 29 761,457
= 515,000
& 246,457
sHBIHALE X (=21D) 45,000 36,000 9,000
= 45,000
308 XX S M SO0l & 45,000 36,000 9,000
= 45,000
01 AIXHHBAAEXZ 45,000 36,000 9,000
O=sgd3gX dgzxd&48 XA 45,000
= 45,000
A=Y S (sSHllLdLd/ s - 55) 54,799,521 47,092,444 7,707,077
= 1,348,581
2 47,772,000
= 5,678,940
= sE &9 8435 1,667,600 1,177,720 489,880
= 1,104,000
= 563,600
SsE2Z 2Hg FX 362,600 281,600 81,000
201 Bt A H| 40,600 50,600 A 10,000
01 At 22l bl 40,600 50,600 A 10,000
O E02ISAIAE AHOE MHIA AISE 600
SIS L T AQ KX EE22 H& 40,000
202 04| 15,000 15,000 0
01 2LHO HI 15,000 15,000 0
Osznz 23 ALx 5,000
307 QI2t0| ™ 88,000 150,500 A 62,500
02 It A X2 88,000 150,500 AN 62,500
OF = AMIRHE =3 30,000
Os0HE WHESII HAEY =& 40,000
Os=Mgad g4d35 =X 18,000
308 AXISHAMSOIH 219,000 65,500 153,500
01 HAXHHNBIMNEXS 219,000 65,500 153,500
OsHEMES2Z0IS HESEs &9 N 30,000
OHIOIE sl X K& 60,000
OsHE MEXNTA - OISoHED 24 39,000
O=s=Mgad HE/RZa 25 XN 90,000
SHEMES A0S MEE WS (=2D) 578,400 501, 120 77,280
= 504,000




2N

h
=
=1

sExY
B YASENY BA(STHLSM/5Y - 5E)
Sel: =9 - 5E FY B (S &2)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
< 74,400
308 XXl S0l A 578,400 501,120 77,280
= 504,000
< 74,400
01 IXNSHHBANEES 578,400 501,120 77,280
OsHENES20IE MR2E HEXH 578,400
= 504,000
< 74,400
SN SERI XNA(21) 240,000 120,000 120,000
= 200,000
< 40,000
308 XX EHHSOIA 240,000 120,000 120,000
= 200,000
< 40,000
01 AXSGHBELS 240,000 120,000 120,000
OZAE sZE%"X K& 240,000
= 200,000
< 40,000
SE3SHEA 243 NA(=1) 275,000 275,000 0
= 250,000
= 25,000
308 XXM S0 A 275,000 275,000 0
= 250,000
= 25,000
01 AXNSHHBLAEES 275,000 275,000 0
OsESsHaAAMN 243 N 275,000
= 250,000
< 25,000
H=sHE 3 =2 61,600 0 61,600
307 21201 A 40,000 0 40,000
02 P AEXS 40,000 0 40,000
OFA=HE Y HES 40,000
308 XXX SO0 A 21,600 0 21,600
TRAXNEHEHEEXS 21,600 0 21,600
OHA=sHE st&=Z208 29 21,600
6XtArA S HAYALE XA (=) 150,000 0 150,000
= 150,000
308 XXM S0 A 150,000 0 150,000
= 150,000
01 AXNSHHBAEES 150,000 0 150,000
O6X4tH 3 243 A48 KR 150,000
= 150,000
sE2Z0|8 &= 3,744,321 2,883,724 860,597
= 73,981




N sEZHD
B YASENY BA(STHLSM/5Y - 5E)
©F sEBIIE =5 (29l 8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 3,294,000
< 376,340
SEMENS =45 (3 -8 ) 189,000 210,000 A 21,000
& 189,000
403 XSS A0l & 189,000 210,000 A 21,000
& 189,000
01 AXSHMA=2E X 189,000 210,000 A 21,000
OsZMENE =4 (S=42X9%) 189,000
= 189,000
SENE0S 2L (ZD-SAER) 1,731,000 1,701,000 30,000
2 1,561,000
< 170,000
403 XIS E X201 & 1,731,000 1,701,000 30,000
2 1,561,000
< 170,000
01 AXSHHMA2E = 1,731,000 1,701,000 30,000
O=ZMENE ZL(LesUHEXY) 1,365,000
& 1,365,000
sZEME0s L (sEHMEAME XJ) 100,000
OsHEXNEsL0t2 AE2el X&A 196,000
& 196,000
O=sttENEs D el 70,000
SZEHOSAAME(21) 1,744,000 780,000 964,000
& 1,544,000
< 200,000
403 MtXISHHE X201 E 1,744,000 780,000 964,000
& 1,544,000
= 200,000
01 XS M A=2EE 1,744,000 780,000 964,000
O=ZHOS¥E2H 1,498,000
= 1,298,000
< 200,000
O#YdE HOtIIR HEE =4 246,000
2 246,000
JABHEAPIEM (=) 80,321 192,724 A 112,403
= 73,981
= 6,340
308 XX EHH SOl 80,321 192,724 A 112,403
= 73,981
= 6,340
01 IXNHHBNEES 80,321 192,724 A 112,403
(OFERt - RSESES PNR==PN| 80,321
= 73,981
< 6,340
sEXNG e 49,387,600 43,031,000 6,356,600




SN sEFYD
HE: YRASENRY HASH(SYHY LM /5Y - &)
Sl sEXY Y (29l & 2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 170,600
& 44,478,000
< 4,739,000
AR SEIUAIY (ZD-03L) 6,462,000 10, 109, 000 A 3,647,000
& 6,462,000
403 UtXISHH S A0l & 6,462,000 10, 109, 000 A 3,647,000
& 6,462,000
01 XS M A=2EE 6,462,000 10, 109, 000 A 3,647,000
O=Z0t2 S 6,462,000
= 6,462,000
HAHS SEIHAL (ZD-SMESR) 36,306,000 29,780,000 6,526,000
= 36,306,000
403 XIS E X201 & 36,306,000 29,780,000 6,526,000
= 36,306,000
01 X EHHMA=LE XL 36,306,000 29,780,000 6,526,000
sZE0S2 SN 36,306,000
& 36,306,000
SJdE MsHEdLE2s =4 93,000 92,000 1,000
201 £B-2dH| 43,000 29,000 14,000
01 At 22l 23,000 14,000 9,000
OS==0t= Al&A &I4 M= 6,000
o240t 88 93 29 17,000
03 A2 E HI 20,000 15,000 5,000
o0t gdeld fIgn=s 20,000
202 oddl 20,000 20,000 0
01 = LH o4 1l 20,000 20,000 0
02402 48 425X 20,000
307 21201 A 30,000 30,000 0
02 B AEXS 30,000 30,000 0
O%==0t2 XNZXA O2tH0ItE 24 30,000
EJIeE MsOHEHER2s 202 && X 4,560,000 2,700,000 1,860,000
403 MHXSHHSA=0l& 4,560,000 2,700,000 1,860,000
01 X ESHMA=2E L 4,560,000 2,700,000 1,860,000
OMsUHEHE2E 202 &3 & 1,800,000
OMsOUE 22012 21 XN ('12684H) 2,760,000
St 28 ASEE(=21) 420,000 280,000 140,000
& 420,000
403 MHXISHE A= 01H 420,000 280,000 140,000
=1 420,000
01 X SHHMA2E X 420,000 280,000 140,000
ontste 23 ASAE XA 420,000




2N
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el
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0l oy off
M o i
>0 o
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tol

OF

o
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=z

OF

Q

OF
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o
=
nc

SA - FE - BI(EA) - NRAY - By 0l b SSa DS

| & 420,000

OtStel 25 24 (=1) 198,000 70,000 128,000
& 198,000

403 XSS A=0l& 198,000 70,000 128,000
& 198,000

01 X SHMA=2EE 198,000 70,000 128,000
ontste 38 2324 N& 198,000
= 198,000

=& 8832y | (21) 156,600 0 156,600
= 120,600
= 36,000

308 XtXIEHH SOl A 156,600 0 156,600
= 120,600
=) 36,000

01 X HHILEES 156,600 0 166,600
Os& g&=2d & 156,600
= 120,600
=) 36,000

sEg4ds NME 29 N3 (21) 100,000 0 100,000
=2 50,000
< 50,000

307 21201 & 100,000 0 100,000
=2 50,000
< 50,000

02 QIZtFAEXZ 100,000 0 100,000
O==g4ds NJAdH XA 100,000
= 50,000
= 50,000

sENS NGB 2XTH(22) 144,000 0 144,000
& 144,000

403 MHtXISHHS A= 0l& 144,000 0 144,000
& 144,000

01 AXISHHA=2E = 144,000 0 144,000
O=s=0t2 N3 & =4 144,000
= 144,000

s=08 NE=2 otolto(=1) 668,000 0 668,000
= 668,000

403 A X EHS K= 0l A 668,000 0 668,000
= 668,000

01 X SHHX2E = 668,000 0 668,000
sE0t2 KNG &9 OtOICIN (I1E) 668,000
& 668,000

sENY NIGder2s(=21) 280,000 0 280,000

o

280,000
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A 206,393
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